

Pay Estimate Created Date: June 16, 2020

Progress Estim 3	ate Number	Contract ID Prime Contractor	191018-A05 Herzog Contracting	Pay Period Star Corp. Pay Period End	,	Original Contract Amount Net Change Order Amount Current Contract Amount	\$3,975,442.88 (\$61,412.12) \$3,914,030.76
Approval Date							By User
June 16, 2020		(Generated and Appro	oved (and should be con	sidered Draft) a	t the Project Office Level by	hartg1
June 16, 2020		Revi	ewed and Approved	and should be consider	ed Draft) at the	Resident Engineer Level by	jacobl
June 16, 2020			Revie	ewed and Approved at th	e Central Office	e Controllers Office Level by	greggd1
Original Comp	letion Date	Current Com	oletion Date	Actual Completion Da	nte %	of Current Contract Amoun	t Complete

Novemb	er 1, 2020	November	1, 2020				70.49%				
Con	tract Informationa	l Dates	Milestones								
Date Description	Original Completion Date	Current Completion Date	Date	Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days			
Acceptance Date			Milestone - A	vailable Time							
Awarded Date	November 6,	November 6,	Milestone - C J1S3172 Adn								
	2019	2019	Milestone - C	alendar Time							
Letting Date	October 18, 2019	October 18, 2019	J1S3172 Roa	id User							
Notice to Proceed Date	January 6, 2020	January 6, 2020									
Open to Traffic Date											
Work Began Date	May 5, 2020	May 5, 2020									

Contract Total Pay For	Estimate No. 3				
		This Estimate	Previous	To Date	
191018-A05					
	Total Posted Items Pay	\$884,060.88	\$1,875,130.79	\$2,759,191.67	
	Gross Item Adjustments	\$12,829.49	(\$12,829.49)	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			<mark>\$1,862,301.30</mark>	\$2,759,191.67	
Contract Total Payable	This Estimate:	\$896,890.37			

Items Paid This Estimate Period

-

Project Number	Line Number	Item Code	Item Description	Current Installed Amount			
J1S3172	0010	2129900	MISC.SHOULDER GRADING	100F	\$71.360	318	\$22,692.48
	0030	4013010	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE WIDENING)	TONS	\$69.090	1,999.54	\$138,148.22
	0040	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$67.380	10,601.65	\$714,339.18
	0050	4071005	TACK COAT	GAL	\$1.000	8,881	\$8,881.00
Project J1S3 ⁴	172 - Total						\$884,060.88
Overall - Tota	ıl						\$884,060.88

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J1S3172	0170	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all	929	\$13.81	\$12,829.49



Pay Estimate Created Date: June 16, 2020

Progress Estimate Number Contract ID 191018-A05 3 Prime Contractor Herzog Contracting Contracti						Pay Period StartJune 2, 2020Original Contract Amount\$3,975,442.88Corp.Pay Period EndJune 15, 2020Net Change Order Amount(\$61,412.12)Current Contract Amount\$3,914,030.76						
Project Number	Line No.	Item Desc	ription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount			
						previous payment estimates. Price Adjustments of ',13.81000 - 13.81000, 'is applied (if non-zero).						
Total									\$12,829.49			



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	1						
Project Number	Federal Proj. Number	Project Description	Route	Route County Location of Work									
J1S3172	FAS S101(34)	Resurface and shoulder improvements	46	NODAWAY	from Route 136 near Ravenwood to Route 169 in Grant City								
Totals by J	Job Numbe	rs											
J1S3172		d Item Pay Item Adjustme		Item Pay	This Estimate \$884,060.88 \$12,829.49 \$896,890.37	Previous \$1,875,130.79 (\$12,829.49) \$1,862,301.30	To Date \$2,759,191.67 \$0.00 \$2,759,191.67						
	Liquic	tive centive lated Damages Contract Adjus	tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00						



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

oosted amount at the time the Estimate was Generated

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
1018-A05	J1S3172	0001	0010	2129900	MISC.SHOULDER GRADING	2,538.00	0.00	2,538.00	100F	1,776.00	\$71.36	\$126,735.36
		0001	0020	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	2,193.50	0.00	2,193.50	TONS	0.00	\$32.90	\$0.00
		0001	0030	4013010	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE WIDENING)	22,796.80	-35.76	22,761.04	TONS	22,761.04	\$69.09	\$1,572,560.25
		0001	0040	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	26,639.60	0.00	26,639.60	TONS	14,141.59	\$67.38	\$952,860.33
		0001	0050	4071005	TACK COAT	32,053.00	0.00	32,053.00	GAL	13,538.00	\$1.00	\$13,538.00
		0001	0060	4134000	BITUMINOUS FOG SEAL	2,816.00	0.00	2,816.00	GAL	0.00	\$3.50	\$0.00
		0001	0070	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$100.00	\$0.00
		0001	0080	6161005	CONSTRUCTION SIGNS	2,402.00	0.00	2,402.00	SQFT	2,393.00	\$5.50	\$13,161.50
		0001	0090	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$80.00	\$0.00
		0001	0100	6161025	CHANNELIZER (TRIM LINE)	86.00	0.00	86.00	EA	86.00	\$25.00	\$2,150.00
		0001	0110	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	-4.00	0.00	EA	0.00	\$1,500.00	\$0.00
		0001	0120	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$100,000.00	\$50,000.00
		0001	0130	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	13.00	0.00	13.00	LF	0.00	\$26.00	\$0.00
		0001	0140	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	0.00	\$250.00	\$0.00
		0001	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	257,770.00	0.00	257,770.00	LF	0.00	\$0.12	\$0.00
		0001	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	197,403.00	0.00	197,403.00	LF	0.00	\$0.12	\$0.00
		0001	0170	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,112.00	929.00	2,041.00	SQYD	2,041.00	\$13.81	\$28,186.21
		0001	0180	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	2,534.20	0.00	2,534.20	STA	0.00	\$17.55	\$0.00
		0001	0190	8061005	ROCK DITCH CHECK	3,000.00	-3,000.00	0.00	LF	0.00	\$16.20	\$0.00
		0001	0200	8061016	SEDIMENT REMOVAL	530.00	-530.00	0.00	CUYD	0.00	\$25.00	\$0.00
		0001	0210	8061019	SILT FENCE	4,048.00	-4,048.00	0.00	LF	0.00	\$2.65	\$0.00
		0001	5001	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	0.00	825.00	825.00	SQYD	0.00	\$8.25	\$0.00
	Project J	1S3172 - To	otal Value	Posted to D	ate as of Report Generated Date							\$2,759,191.66
1018-A05 Ove	erall - Total	Value Pos	ed to Da	te as of Repo	ort Generated Date							\$2,759,191.66



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line umber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/Log Mile	Offset/ Distance	To Station/Log Mile	Offset/ Distance	Comments
0010	2129900	MISC. SUBGRADING AND SHOULDERING	6/8/20	6/12/20	318.00	100F	HWY 46	0				Removing excess shoulder material threw out the lengt of project where needed .
0030	4013010	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	6/2/20	6/3/20	1,999.54	TONS		0				
0040	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	6/3/20	6/4/20	1,372.76	TONS		00				
			6/4/20	6/8/20	1,907.81	TONS	Hwy 46	293+00 325+87	West bound			
			6/5/20	6/8/20	1,151.14	TONS	HWY 46 East bound	174+27	13.6	286+00		
			6/8/20	6/12/20	1,647.00	TONS	HWY 46 EB	286+08		445+51		
			6/11/20	6/12/20	2,345.62	TONS	Hwy 46	445+51/500+50		499+74/658+16		
			6/12/20	6/15/20	2,177.32	TONS	East Bound Rte. 46	499+74		705+01		
0050	4071005	TACK COAT	6/3/20	6/4/20	1,324.00	GAL		0				
			6/4/20	6/8/20	1,519.00	GAL	Hwy 46	293+00/325+87		295+45 500+50		
			6/5/20	6/8/20	1,130.00	GAL	HWY 46 east bound	174+27	13.6	286+00		
			6/8/20	6/12/20	1,246.00	GAL	HWY 46 EB	286+08		445+51		
			6/11/20	6/12/20	1,870.00	GAL	Hwy 46	445+51/500+50		499+74/658+16		
			6/12/20	6/15/20	1,792.00	GAL	East Bound Rte. 46	499+74		705+01		



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0170	MODIFIED COLDMILLING (DEPTH	Overrun	Overrun	1	May 18, 2020	SYSTEM	(\$12,829.49)	
	TRANSITIONS)			3	Jun 16, 2020	SYSTEM	\$12,829.49	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',13.81000 - 13.81000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0170 -	70 - Total						\$0.00	
Overa	all - Total						\$0.00	